ﬁ‘[ﬁ’(ﬁlﬁl ;

B~ JERSHETY i1

~ N FT :E“:#FJ:

(= ) 2 PR D oy W R S g 2 DA SR S PSR - [ e
U BB ey B TR ) (57,407 48,9715

()2l DR %lﬁinﬁa/ugzﬁp LRISEGE W B F13,24316,2517 » A1

Y OEEGIARED > TR

= L

(- )F F S0 i IE?EHB%%—EHJJ%J [Ff[_[";;j‘::g It qukﬁw297]}i[ﬁ4,390ﬁ ST rs e €2
8PS 2 S, % T

(=) 2 AR SR IS 2,173 Fy 7 - b of & 1 TRl 2 R gﬁa&%ﬁw&'u’%?f 11,5217 -
73 BT T SR HISITY — AR S SIS 987% 11,5217 ~ TSNS Y, 1,185
Fi8.4797 » = TR IRR ) 21737

(= )?2? FTR IR = BpTEL I 1S At ‘b112F’JJ8,OOOﬁ s YPEIET]] T s J—%mwﬁ%ﬁﬁj
(SR & TEEMAYR], -

(D) 2 R (208 FIE 9426 £19,0007 - 4 5 o el 3 20 o [ SR MESI 15193 )
9,3257% » Sy HIILErII T EVR HISTY — AR S RIS ) 193 19,3257 -
1%, 232f49,6757 ~ # TE(T[IE] , 426f19,0007 -

(IO 2 i 274 = B2 1,040 45,1617 » REHT] VAT o 2 OT I " 2R
T—BHp4E ) 1599577 T ENFRETs—H 4L | 204,145 ~ T H paziiy
B | A0F15,6037 - T
= 511@]8,5947% s TR R

"R HI

—HRE 345@3 0547 ~ TR H | —H )

— UL ) 82f12,1057 ~ T LTRSS | —H Y



IHE 24f 11,6147 o

()52 FIB DRI (76 T © TS - SIS [ = A3 » FF26[12,0247 > I

gl TR A S ST AR R R 1§47,2507% ~ Y

E'J—E'JFﬁ[}dﬁﬁ%‘—ﬂ N ZO]‘E’le,lSOﬁ s DGR & S Y = EY 4F‘J3,624ﬁ °

(=)= [E e ED R GI12 7] e 2N AT EYS,4077% ~ AR EF T4 £44,0007 M 2 B2
FEIZTY1LFY5,3507 » FH23£45,6577% » Ity T AR - o IS S

B[ ARESES , TS AOTR T ENFT— CTPBET ) 4F14.9007 T EN I
NG 11]‘{32’15,3507“m o

(") 2 il =B ufﬁ@[ﬁ.lzf (3 R R LR R B LR - 79,1457
f/['EJFﬁET\T VMY ORI T 2R R
R R E [—(1 T Fl%ﬁﬁ ("% | 400070

/ny

- Jﬂglut 1 rw%tafu 5 1457+ > FEBFF

(1) 2 IR CARET - TR R stk £ 717,000 7 - INRAT) ©ilsatadtit 2 i o
T WISE T 2P R —%&Eﬁéﬁ‘baé‘%&éﬁ 1 924117107 ~ T EPE I 5
prastif M EEEE ) SOLFYS205 ~ T H Y 2pRpay £ —Sphadlif MEERS | STRIST07 ~ T
HSH B LA VSR L ) 567,087 16,4607~ TAEYN B ERATR M EEHL ) 9,170

FIBAOT + TPUALGE WY I LA M EEH S | 638163807 ~ 1T RIS
i 52 ) O5FYL 72050 ~ TR R [ FU iR MEERE | 11274420050 ~ T RETYR]

— PR VEESE ) 641,600 -

(1) & F By~ qur] FLI342(€5,073 46,3877 > A4 Y L1

8,0405,1617% » 7|11 350(€3,114 41,5487 - 15

SE(E) ~ (o) RS TR T i

PRI R [ rﬁ\gf A s

Fah | S AR R RS IO RN WF FrevHI21 F| A4S 29
[£14,630F44,5077% > 72 6l [F #5442 381,666 49,1497 = A [ A ipfHrigh | - sk
RGP AR T M AR M REC A e I R
E'J?Tﬁf ]| RS g*&kTJ; PRAPEFFPIGL TR > (FRBEE

(1 = )4 & AT REB S RUIL, 269 47,6215 » =1 JfiT] -

P gL AR TR o SIES A LRLITAFIL402 7 » 57 507,869 14,6547

EIH19,794 13,6347 » F fIFTH YN BAOFY L8107 o H U FTH YHUCT 3,243 46,2515 5 Ik 4

S ! i 1 7,407%8,9717L » E R i 5S4 7’403FJ5’3477L ES TR IR RO AR T (R

;FIT,
=



6,438F'1J8,97277- o

o~ R Y ¢

N LK

W25 RN 1387, 7131981627 » AT Flﬁjﬁjﬂgn [E1 ‘Z/U7['?_§L6,438F'JJ8,9727L s KT
130{815,274}2,009.627% -

=~ STPEEE -
(= EE A B B1RG2E FE]25% ;rsz[’ﬁﬁ,slsﬁs,5oz.4a o
(= VR A = (2 il AR S R b v i 2 7 16/03,307/41,318.227+ =

(2 ) # M T 73 [P0 5 130/85,274F12,000.627 » AE1| b (=)~ (Z )[R » jijBR8LIE
5,64845,1897% » K453 PRI LU ] -

2 HEFREIVHY

- BHEPRERE

A

kﬂ-&t

AR FAE @ﬁusmfﬁs,aglﬁz?ss.ssﬁ ;
(ST > 21

Jﬁjﬁ 7] & I]?ﬁljﬁ

ERHERY AR ¢



R RS LIS, 650(9,92344,213.03 7 » H FlIH & 132{£17,947 f'44,457.97
Te WH'“‘ B S 127 (8L, 284f 13,824,977 » 1 [ZéE#—%lbW?Ha 37, 752f 19,8185 »
VP 847f 11,8607 » 2 Wik K B PR 1SR LT, 062ﬂg (8.0557 & | £ 70113.792
[€7,870F18,6717% - bR HIFE TS 472,804 (81,350 45177 » HTVIEL & W = W TI#{ 966
6,601 49,3517 » I Il L5 21(19,918 48,8037 » #4731

1

- FRVERY HE A

FHE P 8 i RUS1I1,959 (81,074 48,483.06 7+ ¥ {12 £ 7 2,144 (16,850
5,762.767 - [ty fE b B 53 IV B SRS N85[RS, 675 7,279,657+ » BRI
FRRIEELIAL000F) 7 4 1 {985 (00,758 7,686 + S AT & fEF118(0 4,916 F)
9,651 » IS5l -

o~ Rk R

TR A W RUTIL/E6,207 44,5067 T it -

1y

o THE WAEHE i

£ WFESHTHLE D ER]1,128186,8493,440.027 » ST D IH £ 391(16,2894,234.56
7 '*FV\%‘LW&I$\72615L6,454F [4853.467 > T KL IFOT ALTFI2,52L% o W F 1] 1
1 2R 0. e 5 6,688 11,8317 B> =71 1] -

ENL S R &Y RA DR

- ~ YR EHICH -



() B TRRURLI1480(E5,856,41,457.757% » R 7 7 i [T P R RS

SR IR S 4 FI88Y5.3607 + I MR E RS 2 A

ﬁ*]"/ S QTSR E A S PRI RIE o A P2 R R o Y ET4B0fE
5,76716,097.757 -

(=) $YRUTI4TO1E3,308 47,2597 » A% 2 il T 4 By RIFIRSIZHH 500 SRF e
I AT ALY RV - FE3[EL0646,2757% » (K] FHERT - ] T H PR T
1y 11476183, 2029847 -

=)+ %Ei#ﬂ#ﬂ%@”&?%fj3,2587? ’ ;;ﬁ[ Féz;? fil T s R ERSIZEE E 0 2
P AP E i bW FTA6F10,7857 » [IE[|ERT » UG AR FL T A
B — o B U RIS Fi2,9615 - T T T P2 ) 16§19,7857
TR IS Y SF 12,9617% > F,ﬁi’?ﬁf/ﬂllf 16,8247 5 5 EL2, 706F 16,434
F o

(D) 555! 3 SER181/605, 906 FB.613 7% + A6 2 il T H M AT L RIS
ERPE AT B R YR FHLS. 45516067 » YIBIARIE o TR T —
ST ) BRI ]3.188 46,8857 » 2053 HIAET T E F2RET K RYE L 173,465 11606
7o TR = H PR | 3,18816,8857 o AFHETILN26613,721% - FHELD
180{i5,64014,892 % -

()2 FETH ok RIS F3,3827 » A4 YR Fifi(- )2 (M) S TATI4/E4T3F)2, 1807 - 19 E45
4E 48815 5127 -

()G 486,729 47,450,487 » AR FHEREHIST (ST 4T]1418F18,1547% - 1514348
[£8,14815,604.487% -

~ FIEE

()i FCFRUII,137125,863 16,070,967 » A Fidf ikl 73 - AU 2 LTS (51815
[6420£44,2307 - 1% ¢:#11,132{15,44311,840.96 7 -

(= )= INFPRLY62(E 4, 917ﬂE 15,6227 » FEAT p;fgjﬁg TSR, oooif 7o FEELT0ME
1917156227 -



S fREE

Ll}“F’[?ﬁw‘[?}[’ﬁ?a%%l‘rjﬂlo4fELZ,ngFIJJ3,986,87w s ;";?&fgiyﬁrlﬂéﬁﬁgﬁﬁﬂﬁ I,'%I*i@;‘?”zI’E_'}L5,160FJJ7,616
T ’Wé‘1;@101|’7€17,757%6,370.87m o



